
2 RJEŠENJA

Rješenja zadataka 2.1

Zadatak 1. Napiši prvih pet članova niza (an) kojem je opći član an zadan formulom:

1) an = 2n − 3 ; 2) an =
n − 1
n + 1

;

3) an = −3 + (−1)n ; 4) an =
(

1 +
1
n

)n
;

5) an =
1
n!

; 6) an = 1 + (−1)n ;

7) an = n(n + 1) ; 8) an=
(−1)n+(−1)n−1

2
.

Rješenje. 1) an = 2n − 3 ;

a1 = 2 · 1 − 3 = −1, a2 = 2 · 2 − 3 = 1, a3 = 2 · 3 − 3 = 3,

a4 = 2 · 4 − 3 = 5, a5 = 2 · 5 − 3 = 7;

2) an =
n − 1
n + 1

;

a1 =
1 − 1
1 + 1

= 0, a2 =
2 − 1
2 + 1

=
1
3
, a3 =

3 − 1
3 + 1

=
2
4

=
1
2
,

a4 =
4 − 1
4 + 1

=
3
5
, a5 =

5 − 1
5 + 1

=
4
6

=
2
3

;

3) an = −3 + (−1)n ;

a1 = −3 + (−1)1 = −4, a2 = −3 + (−1)2 = −2,

a3 = −3 + (−1)3 = −4, a4 = −3 + (−1)4 = −2,

a5 = −3 + (−1)5 = −4;

4) an =
(

1 +
1
n

)n
;

a1 =
(

1 +
1
1

)1
= 2, a2 =

(
1 +

1
2

)2
=
(3

2

)2
=

9
4
,

a3 =
(

1 +
1
3

)3
=
(4

3

)3
=

64
27

, a4 =
(

1 +
1
4

)4
=
(5

4

)4
=

625
256

,

a5 =
(

1 +
1
5

)5
=
(6

5

)5
=

7776
3125

;

5) an =
1
n!

;

a1 = 1, a2 =
1
2
, a3 =

1
6
, a4 =

1
24

, a5 =
1

120
;

6) an = 1 + (−1)n ;

a1 = 0, a2 = 2, a3 = 0, a4 = 2, a5 = 0;
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7) an = n(n + 1) ;

a1 = 1(1 + 1) = 2, a2 = 2(2 + 1) = 6, a3 = 3(3 + 1) = 12,

a4 = 4(4 + 1) = 20, a5 = 5(5 + 1) = 30;

8) an =
(−1)n + (−1)n−1

2
.

a1 = a2 = a3 = a4 = a5 = . . . = an = 0
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